3 Bike Highlighter
Parts List

i (1) Top section i (2) Single Legs

E |

| (1) 4th tier section |

(2) Center legs

l (1) Front Section ‘

(3) Tray Catches

(16)5/16” x 1/2” Bolts
% (6)5/16” Washer
(6)1/2" Black Plugs

(6) 1" Black Plugs
(3) Stanchions (3)1/4" x 3/8" Setscrew
(1) Rudy Rack Sticker

Hardware:

’}7’“
?Em Hack « 8004346442 o www.rudyrackcom e pagel K@J



3-Bike Highlighter

1. Insert the floor section into the center legs with the tabs facing up, then
msert the 4th tier section into the center legs. Adjust to desired spacing

and secure nsing 5/16™ x 1727 bolts.

2. Insert the (2} Single Legs into the other side of the Center Section. Tighten
with (2} 5/16" x1/2" Bolts.

3. Insert the Top Section into the (2) Single Legs. The End Trays should be facing
the same way. Tighten with (2} 5/16" x1/2" Bolts at your desired spacing,.

4, Attach the (3) Stanchions onto the (3) sections using (2) 5/18" x 1,/2" Bolts and
(21 5/16" Washers for each Stanchion.

5. Insert (1) Tray Catch to the exposed holes in the front of each stanchion.
Adjust the catch to the desired wheel base. Tighten using
i1 1/4" x 3/8" Setscrews.,

6 Insert the provided 1" and 1/2" Black Plugs into the exposed ends to give the
Highlighter a finished look.

Thank you for your purchase with Rudy Rack.

R
E&m‘:@ Rack e« 8004346442 www.rudyrackcom e page?2 \J




